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File Edit Selection

@ practice.py X

@ practice.py > ...
listl = [1,2,3]
list2 = listl
print(listl)
print(list2)
print(id(1listl))
print(id(1list2))
list2.append(9)
print(listl)
print(list2)
print(id(1listl))
print(id(1list2))
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PROBLEMS OUTPUT TERMINAL

Desktop/python/practice.py
[1, 2, 3]

[1, 2, 3]

1625142235904
1625142235904

[1, 2, 3, 9]

[1, 2, 3, 9]
1625142235904
1625142235904
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Bl python +~ B @ -

PS C:\Users\DELL\Desktop\python> & C:/Users/DELL/AppData/
PS C:\Users\DELL\Desktop\python> & C:/Users/DELL/AppData/
Local/Programs/Python/Python311/python.exe c:/Users/DELL/

PS C:\Users\DELL\Desktop\python> I
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@ @ practicepy X PROBLEMS ~ OUTPUT ~ TERMINAL .-+ Bl python +v B W ---

PS C:\Users\DELL\Desktop\python> & C:/Users/DELL/AppData/
listl = [1,2,3] PS C:\Users\DELL\Desktop\python> & C:/Users/DELL/AppData/
R R Local/Programs/Python/Python311/python.exe c:/Users/DELL/

2 Lsitd 5 LISEle) Desktop/python/practice.py

print(listl) [1, 2, 3]

print(list2) [1, 2, 3]

print(id(listl)) 1952802575104

print(id(1list2)) 1952804316224

list2.append(9) Ei: ;; i] .

print(listl) 1952802575104

print(list2) 1952804316224

print(id(list1)) PS C:\Users\DELL\Desktop\python> I
print(id(list2))
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File Edit Selection - £ python O & 0 o8

@ practicepy X PROBLEMS ~ OUTPUT  TERMINAL --- [ python +v B W

@ practice.py > ... PS C:\Users\DELL\Desktop\python> & C:/Users/DELL/AppData/
1 _ PS C:\Users\DELL\Desktop\python> & C:/Users/DELL/AppData/
istl = [1,2,3] Local/Programs/Python/Python311/python.exe c:/Users/DELL/
list2 = list(list1) g ython/ry python. :

Desktop/python/practice.py

print(listl) [1, 2, 3]

print(list2) [1, 2, 3]

print(id(list1)) 2038719681280

print(id(list2)) 2038722142912

list2.append(9) [1, 2, 3]

. . i, 2, 3, 9]
print(listl) 2038719681280

print(list2) 2038722142912
print(id(list1)) PS C:\Users\DELL\Desktop\python> ||
print(id(list2))
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@ practice.py X PROBLEMS ~ OUTPUT  TERMINAL --- ) python +v H W

X

@ practice.py > ... PS C:\Users\DELL\Desktop\python> & C:/Users/DELL/AppData/
import copy - PS C:\Users\DELL\Desktop\python> & C:/Users/DELL/AppData/

. Local/Programs/Python/Python311/python.exe c:/Users/DELL/

list1 = [1,2,3] Desktop/python/practice.py

list2 = copy.copy(listl) [1, 2, 3]

print(listl) [1, 2, 3]

print(list2) 1794340990976

print(id(list1)) 1794340823744

print(id(1list2)) [1, 2, 3]

. [1, 2, 3, 9]
derEraandis 1794340990976

print(listl) 1794340823744

print(list2) PS C:\Users\DELL\Desktop\python> ||
print(id(listl))

print(id(list2))
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LisT METHODS AND BUILT-IN Functions

Method Description Example
len() Returns the length of the list passed >>> 1ist1=[10,20,30,40,50]
as the argument >>> len(listl)
5
list() Creates an empty list if no argumentis | >>> listl = list()
passed >>> listl
Creates a list if a sequence is passed [ ]
as >>> strl = 'aeiou'
an argument >>> listl = list(strl)
>>> listl
[vav, vev, 'i', 'O', vqu
append|) Appends a single element passed as >>> listl = [10,20,30,40]
an argument at the end of the list >>> listl.append (50)
>>> listl
The single element can also be a list [10, 20, 30, 40, 50]
>>> listl = [10,20,30,40]
>>> listl.append([50,60])
>>> listl
[10, 20, 30, 40, [50, 601]
extend) Appends each element of the list >>> listl = [10,20,30]
passed as argument to the end of the >>> 1list2 = [40,50]
given list >>> listl.extend(list2)
>>> listl
[10, 20, 30, 40, 50]
insert() Inserts an element at a particular >>> 1istl1=[10,20,30,40,50]
index in the list >>> listl.insert (2,25)
>>> listl
[10, 20, 25, 30, 40, 50]
>>> listl.insert (0,5)
>>> listl
[5, 10, 20, 25, 30, 40, 50]
count() Returns the number of times a given >>> 1istl1=[10,20,30,10,40,10]
element appears in the list >>> listl.count (10)
3
>>> listl.count (90)
0
index() Returns index of the first occurrence >>> listl =

of the element in the list. If the
element is not present, ValueError is
generated

[10,20,30,20,40,10]
listl.index (20)

>>>

1
>>> listl.index (90)
ValueError: 90 is not in list




remove()

Removes the given element from the
list. If the element is present multiple
times, only the first occurrence is

removed. If the element is not
present, then ValueError is
generated

>>> 141st1=[10,20,30,40,50,30]
>>> listl.remove (30)

>>> listl

[10, 20, 40, 50, 30]

>>> listl.remove (90)
ValueError:list.remove (X) :X not
in list

popl()

Returns the element whose index is
passed as parameter to this function
and also removes it from the list. If no
parameter is given, then it returns and
removes the last element of the list

>>> 1listl = [10,20,30,40,50,60]
>>> listl.pop (3)

40

>>> 1istl

[10, 20, 30, 50, 60]

>>> 1istl = [10,20,30,40,50,60]
>>> listl.pop ()

60

>>> listl

[10, 20, 30, 40, 50]

reverse()

Reverses the order of elements in the
given list

>>> 1istl1l=[34,66,12,89,28,99]
>>> listl.reverse ()

>>> listl

[ 99, 28, 89, 12, 66, 34]

>>> listl=[ 'Tiger' ,'Zebra' ,
'Lion' 'Cat' , 'Elephant', 'Dog']
>>> listl.reverse ()

>>> 1listl

['Dog', 'Elephant',6 'Cat',
'Lion', 'Zebra', 'Tiger']

sort()

Sorts the elements of the given list
in-place

>>>1istl =

['Tiger', 'Zebra', 'Lion',
'Elephant' , 'Dog']

>>> listl.sort ()

>>> listl

['Cat', 'Dog', 'Elephant',
'Tiger', 'Zebra']

'Cat’',

'Lion',

>>> 1istl1=[34,66,12,89,28,99]
>>> listl.sort (reverse = True)
>>> 1listl

[99,89,066,34,28,12]

sorted()

It takes a list as parameter and
creates a new list consisting of the
same elements arranged in sorted
order

>>> 1istl1=[23,45,11,67,85,50]
>>> list2 = sorted(listl)
>>> listl

[23, 45, 11, 67, 85, 56]

>>> 1ist2

[11, 23, 45, 56, 67, 85]




min() Returns minimum or smallest >>> 1istl1=[34,12,63,39,92,44]
element of the list >>> min (listl)
12
max() Returns maximum or largest element [ 55> nax (1ist1)
of the list 92
sum() Returns sum of the elements of the list | o5 <y (list1)
284
| |
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